Division par 107 (])

4+10%=

13 = 102

56 = 102

88 + 107

11 + 102

39 + 10?

47 + 107

43 + 107

22 + 102

43 + 107

Trouvez chaque quotient.

47 +10% =

33 +10% =

49 + 102

94 =+ 102

96 + 10% =

27 - 10% =

85+ 10% =

94 =+ 10% =

42 + 107

87 =+ 10% =
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Division par 10# (J) Solutions

4 +10%=0,04

13 +10°=10,13

56 +~ 10> =0,56

88 + 10%> = 0,88

11+10%2=0,11

39 +10%*=0,39

47 +10% = 0,47

43 +10*=0,43

22 +10%=0,22

43 +10*=0,43

Trouvez chaque quotient.

47 +10% = 0,47

33 +10°=10,33

49 +10%*= 0,49

94 + 10% = 0,94

96 + 10% = 0,96

27 +10%=0,27

85 + 10%>=0,85

94 + 10% = 0,94

42 +10%*=0,42

87 + 10% = 0,87
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